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ABSTRACT

Physicists claim that ether doesn't exist but that is a fallacy, the Michelson/Morley experiment
proved that there was no ether wind but that doesn't mean that ether doesn't exist. There are 4
obvious clues that ether exists, frame dragging, the whirlpool properties of galaxies, time
dilation and a property of light. Ether exists, Einstein was wrong.

INTRODUCTION
Frame dragging tells us that ether exists;

A spinning celestial object continuously drags along space, what happens when an celestial
object continuously drags along its environment while spinning? When that celestial object
continuously twists its environment, then it will always create a whirlpool in that environment
and a whirlpool always requires a medium (ether). There is no friction (grip) between that
celestial object and space, so that celestial object can only drag space along when it
continuously absorbs space and that also requires a medium (ether).

The whirlpool properties of galaxies tell us that ether exists;

Each galaxy has several whirlpool properties, those whirlpool properties are an empty eye (black
hole), jets, spiral arms, differential orbital speeds of the streams (and the objects in those
streams), and a wave-like motion of those streams (stars move up and down). When you look at
a whirlpool in water, a hurricane and a spiral galaxy you will see that they have the same
structure, a whirlpool structure in water, a whirlpool structure in air and a whirlpool structure in
ether. A galaxy can only have several whirlpool properties if it's a whirlpool and a whirlpool
always requires a medium (ether), in nature you can only find whirlpool properties in a whirlpool.
That is why there was no ether wind with that Michelson/Morley experiment, the Earth is
dragged along in the ether whirlpool of the Sun and the Earth itself creates its own ether
whirlpool (frame dragging).



Time dilation tells us that ether exists;

When an object speeds up outside a gravitational field then time slows down, the reason why
time slows down is a speed. There is no gravity in that situation so time cannot be affected by
gravity, so we can conclude that spacetime doesn't exist outside a gravitational field. And if
spacetime cannot exist outside a gravitational field, then we can conclude that spacetime
doesn't exist (spacetime is a fallacy). The speed of that object is not the reason why time slows
down, the speed itself is nothing. Time can only slow down by a tangiable thing, and that
tangiable thing is speeding up. There is nothing else out there, just the atoms and space. So we
can conclude that time slows down because the speed of space in relation to those atoms
increases, so time is affected by the speed of space. Physicists don't realize that time is only
affected by the speed of space, time is only affected by the speed of space inside a
gravitational field. And that tells us that space is also speeding up when you get nearer to a
celestial object, and that is only possible if that celestial object continuously absorbs space. So
space doesn't bend near a celestial object, space is continuously absorbed by a celestial object
and that requires a medium (ether).

A property of light tells us that ether exists;

You cannot add a speed to the speed of light, that is a unique property. There is only one speed
in nature with that property, that is the transfer speed of a medium. A signal in a nerve has a
transfer speed and the nerve is its medium, you cannot add a speed to the speed of that signal.
So light is transfered through a medium, so we can conclude that ether exists.

We can also conclude that ether exists by looking at light itself;

Light has no mass and therefore it cannot experience time, time dilation shows us that time is
created by atoms (matter). So light doesn't experience time, so the speed of light cannot be the
speed of light itself because a speed is a distance in a certain amount of time. And if the speed
of light is not the speed of light itself, then light cannot cover a distance by itself. And if light
cannot cover a distance by itself then light can only be transfered by a medium, so a photon is
transfered from one ether particle to another. So the speed of light is in fact the transfer speed
of ether, it's a processing speed of a medium.



CONCLUSION

There are 4 obvious clues that ether exists, so we can conclude that the universe is filled with
ether. And if the universe is filled with ether then space doesn't bend, so Einstein's theory of
gravity is wrong. That continuous absorption of ether has the same mathematical model as
Einstein's curvature of space, the curvature of space can also be seen as an increase in the
speed of space and that results in an increase of gravity. So gravity is the side effect of that
continuous absorption stream, we are dragged towards Earth because our body has a
continuous grip on the ether that is continuously absorbed by the Earth. And time slows down
because it gets more difficult for the atoms to absorb ether when the speed of ether increases,
so time can only be that process of the continuous absorption of ether by matter. That is why
gravity and time change simultaneously, they are both simultaneously created and affected by
ether. Theoretical physicists got lost in mathetical fiction because they believed that Einstein
was right, Einstein's gravity, spacetime, gravitational waves, massive black holes, dark matter,
etc don't exist, those things are the result of fallacies. They claimed that they found two
gravitational waves but a gravitational wave cannot exist, that is why there is no proof. You can
only claim that you found a gravitational wave when you prove that space bends, when you
prove that spacetime exists because a gravitational wave can only exist in spacetime, and when
you prove that a black hole is massive and they don't even know what a black hole is. They said
that those signals could only be the result of two merging black holes, but that doesn't prove
that those signals were real. Those signals matched up with two predicted gravitational waves,
they matched up because they were not real as well. That discovery of those gravitational
waves seems to prove that space bends, that spacetime is real and that a black hole is massive,
and that is nonsense.



